IP MZ=Eif&C{ERER

BOEHHRERE)

I
[

"msg": "JIN",

"success": true,

"code": 200,

"data": {
"orderNo": "767884120561274411",
"result": {

"scene": "{MLEL"

EOERIRERE:

{
"msg": "ZSHIIR",
"success": false,
"code": 400,
"data": {}

}

IR [E]= BB -

FEBRa L

success FEOERRINRR, true AN, false AKX, KMERT, BN
HAFRZSHS

code AEh79 200, HEAKBUASE

msg code XIRIATIBAHEA

data WIFERFMER

orderNo TERS

result ERERIFS

scene NARHS




code $B1RE15¢08 :

code jizl:):}
200 [pan
400 SRR
404 BERZEAFE
500 RENPEIR, BRERSE
501 E=HRERE
604 EOER
1001 Hifth, LASEPRRE9E
1003 EARIhFEUE




